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Note:- Y ou have four choices for each objective type question as A, B, C aud D. The choice, which you think, is correct; fill that circle in
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front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that

question; Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
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otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (C) (B) (A} QUESTIONS Q-1
137 30. 10 % 13 0.13 as percentage is et Fdedons i
17:15 15:19 19:15 15:17 | Thelowestformof75:95 - FulTd75:95 | 2
~e 0P 5 g aS e as100000 | 3
2000 15000 2500 25000 ¥
s ° Zakat on amount of Rs 100000 is
.:}:/'..:4'5<¢4"~:4? sielncdibtn x.“/-":/s."«f=);j->'§ .;-*;};‘b.gi'.:—é ﬁ?.t')?dllﬁg 4
SP<CP | CP=MP | S$P=CP/y SP>CP | Profitiscamed when
u,,i./JL LK '(’:'{'.(‘. e . oy, (J:Jd)’u(bl&i.»&uﬂi .5
Mark up Discount Premium Bonus The periodic instaiment to be paid by the insured is called.
é{)’/‘\/gl VJ:‘{;I Ja RNV Vrg}k’ _.:‘:._tbgbﬁj{&,of(ngl?l’l}fufgu .6
Exciseduty | Income Tax | Direct Tax Sales Tax «|) The Tax charged on all Taxable income is called.
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Irrational Natural lnteger Rational o & Dl D ErOReaTRe Tk
is & number
4 s Je e Luatis wu*q"kfyﬁd/ /’( Il sl | 2
Real part %3“;;2’ Characteristic | Mantissa | In the logarithm of afiumber decimal paxt is called.
9 3 6 0 The third term of a,=n+3 ce 8 A Sa=nt3
. -
L3 25 P Lo e Vb AUl sl -12.51-3 | 10
G.Mbetween =3 and ~12 iy
(5.6) (4] (65) ) = VEAR Tnr={(a5)(5:0(55, ) 6 | .11
w o ' lfR {(4,5)(5,4)(5,6)(6,4)} then Range of R is
. A'=73A={4} »U= {1234/1 12
{23} {13} {123} {1.2} }
» IfU={1234},A={4} then A" =7
5 0 3 q Graphof -ﬁ:.bfﬂbﬂ% X SEASL x=asiis | 13
equation int the form X = a has X co-ordinate
=9 £ xX= e 2 X =
. 0 . q | y=2d L x=1t2x+y =6 | .14
: : Porx—l in 2x+y=6 we have y=?
Lot L3 A Lr:l.f)’/k Lot sl ) T 15
L - . Ky, = ,
Arithmetic Geometric Harmonic Weighted | _ T wx
Mean Mean mean mean XW 5 Tw is called
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Part

Answer briefly any Six parts from the follow ings. 6x2=12
Simplify the ratio 8:12 in the simplest form.
Express 16 %% as decimal. _
If4/5 of the students in a schoo! have heen away fora
holiday. How many in.every hundered have been on holiday,
Calculate the amount of Zakat on an amount ofRs. 506000,
Calculate Zakat on gold amounting to Rs, 1110000,
Find the SP, when CP=Rs.1540 and Logs=5¥
Find the selling price when MP=Rs.728 Discount=6*
What is meant by cost price?
Convert 3000 Riyals into Pak Rupee. Suchthat value of
Saudi Riyals Rs 22.4000.
Answer briefly any Six parts from the followings, 6x2=12
Define insurer,
What is meant by Property Tax?
Total annual income of'a house is Rs. 1506000, Calculate
Property tax @ 16%.
solve 198243
log$
Find the value of X if logx = 4.4236
What is meant by characteristic snd mantissa,
Find the number of terms in an AP a,=3, d=4, 4,=59
Find GM between 9 and 5. |
Find 7thterm 2,8,32,....
Answer briefly any Six parts from the followings. 6x2=12
Define Commutative property of Union,
Find AU Bif A={1 4,78} , B={4,6,3,9)
Write two binary relations in A if A={-2,1,4}
Represent B(3,2) on the graph.
Write down the coordinates of a point lying on the left hand side

of X-axis and at a distance of S units from the origin,
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Convert the 113 °F into °C.

Define Arithmetic mean?

—(02)—-

Find Range of 2,9,3,6,12,8

Find Mode if data 6,2,4,3,4,5 4,5
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Part II
Note: Attempt any Three Questions. 8x3=24

A triangle has sides of length 3cm , 4cm and 6cm. Find
the ratio of the lengths of the sides to one another,

An amount or Rs. 400,000 left as an inheritance is to be
distributed amoung a widow and four daughters. Work
out the share of each.

Umar and Ali purchased a plot with an investment of
Rs.300000 and Rs. 500000 respectively. On selling
the plot they got a profit of Rs. 220000. Find the share
of each in profit.

Find the Compound profit on Rs. 54000 for one year at

+12% per anfium, -

Ifthe gross salary of a person is Rs 25 000, and he has

‘to pay Rs 360, per month as income téx, Rs'1500 as

benevolent fund a‘nd Rs 1000 as G.P fund and Rs 300

as group insurance, then work out his net income.

Prove that 310g4+210g5-§110g64—%log16=2

Find Three A.Ms between +/3 - and 9.3
IfX={0,3,5} and Y={2,4,8} then establish any four
binary relationin X'x}

Dréiw the 'ﬁgurg with the Help of points

A&S ,2),B(-6,-3) and C(3 ,5)on graph paper.

Find tlie standard deviation .of the values 2,3 ,6, 8 , 11
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(D)_ (€) (B) (A) QUESTIONS Q-1
200 20 12 120 20 % 0f 600 is 20 %¥600=7 | .1
17:13 19:15 15:19 15:17I Lowest form of 75: 95 is -;.gf‘ﬁuvTJ75:95 2

1 i : 1 ?‘L.WL/:(JU?)’JJUﬂ)ﬁ(_jf)l{_ﬂg(?l};(p.f 3

= 3 ry 7 The share of widow in inherited property (in the

- presence of a children).

FEW o | espoosiad | enpedaied | whjeioprad Jieted ol | 4
None of these SP>Cp SP<CP SP=Cp Profit is eamed when
Fow J » 5 & &5 *Vgg é"iﬁdg’ L’(’ujj)ﬁ’t}/‘/?;ggkf:rb“ 3
v iz EV0odl 24471 __ T ) ) ‘ ‘
I fuwes 5T T— N —_— T'he person or entity whose insurance ig being done is
called.
) . ; L Y OB PR A
2k i34 Ardent ¥y s il ‘
B ” ‘ A machine installed by the bank to dispense cash to
Card reader ATM Scanner Computer »
; customcr is called.
1 b 1 ) 3 . e ,g e g
Jg'f, B L ‘J"f'-?”’iﬂ’/. v Jf)..’ g.‘tlkf ..... c‘_t‘(ygé/_:dx fe Jbru:’.’;fgu 7
Llncome tax | Exciseduty | Dircct tax Salestax | e pay charged 6n all the taxable income is called,

2 2% 2% 2 W2=2 |8
u&&us )ﬁé‘“ s 140 ..(,{}’c:"[ :(3 e \/73— .9
Natural Integer | Radicand | Radical | In /3,3 iscalied
number 1

27 21 30 24 For2,6,11,17,.....asis ?c‘:.(fh:»fu(as Un2,6,11,17, u. 10
L 6 ,l 0 9 3 Third term of a,=n+3 is ":_..l.,fﬁ Jlj,/f(,(a,,=n+3 1
AU B AN B A° U B ey ‘ (AN B) =9 12
K | | =7 Junte 2 BaA Sl | 13
BuA B4 AN B ¢ ANB=? Junmte Sz By
: IfA and B are two non-emtpy overlapping sets, then -
ANB=?
s wh " ¢ S el 6y o F = Y] .
Fod b Lty ey §._C'U"(_(r( Krf e ¥ -X £45¢7 | 14
The perpendicular distance of point from X ~axis is
Straight line Origin Abscissa Ordinate called
! S T O I RO b et Tk~ X ) =0 | 15
Mode Harmonic Geometric Arithmetic 5 —
X =X )=0 isoneof orties of <
L . —_— - (x; =X ) =0 isone of the properties 0 =
D77 -
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Answer briefly anty Six parts from the followin gs. Ox2=12 Lt/ LF et 2 L 14 e S i u"f;éu 2pE )y

£xpress the pereentage as decimal up to 3 decimal places 58 * 587 L& f,ei'g,ff,:-.xﬁ;l‘lME‘,_,JLiJ‘i,gJ.;B;(Mf,} )
. . & P N e " P o
Detine direet propaortion. ~Ewd et ()
¢ T s & o e P 'g’ B o ¥ & . /“
Hatt=2:3 then find the ratio 6a: 2b SEEOT 0 62120 Fratbh=2:1 Gii)
. ) . o i y ( )
Define Nisab, g . iv

Caleulate the amount of'zakat on 10 tofa goldifrate of gold 1s Rs.40000 pet Tola "‘,_i'_rﬂ’”i,?/j 2b= 71 O?nJ?J.L’-;AOOOO e Sl S (v)

Define Cost Price and , How is it denoted. _wl.//:ib'c_{c,wlz‘{wéf&ﬁfaﬂf (vi)

Find C.P when 8.P=Rs.851 Loss=8% < )l =Rs 85 i =87 f"z’:rrb’»h:«: (vii}

Find selling price when M.P=Rs.2760 Discount=57 00 =R8.2760 Lo =57 ] Eereiied G

Find profit rate when Principal = RsA000 M= Ry 3000 i Lf_gi’:t‘”éb'&; (ix)

Time = 10 years == 1) years
Sitaple Profit = Rs 1200 Sl = Ry 1200
Answer briefly any Six parts from: the followings; 6x2=12 ..(,.ff £ /’ c:.,yﬁ/-"’? {.52!{@&/ a,u.fpf s 3 /‘ Jis

What sum would borrow in Rs.] 74 as markup at 5% in 4 (f /f U;} é._{i;na,.,u 1741 JL.:..L Ads "‘i“;i‘;r\.:«,u SJva i i
years. ~.J‘,~ff—x:/uui ,’? /
A sales Tax of |67 is Imposed on television, ITthe marked s} 80”0»}{;&'/).(:uj,’,?f.,!f/f;~<‘:.t'lf‘£6g,rgjf i (i"'-‘@(;jf'gﬁulf (i)
price ef television is Rs. 18000, Calculate the total amount » _Jntﬁ:llr}‘;dyf:@_,I:i«,«;_/"'u"/;:l‘f;ﬂ
one has to pay, if he wants to purchase it,
What is meant by Sales Tax? Yo oS cyhfg/f Gip
Determine the Radical and Radicand. ~\//§ \/7_ uu:'/(;. nifde iy}
Simplify «m")ﬁ \/G?j_ LA W)
Write in scientific notation  0.424 ' 0.424 ng.‘f’ljgﬁfg,’u:l/ (vi)
Write the first three terms a,=n+3 an=n+3 _u"’g,,”"af ulfrl (vii)
Find A M between -3 ,7 3,7 e b7 (i)
Find G.M between 5,9 5,9 “Q'/(’h‘-b”ﬁ}/:’ G , '
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Answer briefly any Six parts from the followings.
Find AN B ifA={2357.11) B={1,3,5,7,9}
Find A% if U={1234567} , A={345)
Find Bx 4 if A={356) , B=({1,3}
Represent the point B(3 , 2) on graph.
Write down the coordinates ofapoint lying on right hand side of
origin on X-axis at a distance of 3 units from origin.
Draw the figure with the help of points on the graph paper.
A0,-7),B(3,-2), c(4,0), D(5 ,6),E(7,8)
" Find the range, 6,8,10,14,13,12
Find the median 54,543,426
Find the mode 6,2,4,34,54,5
Part o
' Note: Attempt any Three Questions,
5(a). A manager plans to produce 100 bicycles with the help

of 25 persons working 4 hours daily. How many bicycles can
be made by 40 persons if they work 3 hours daily?
(b) Asghar left a property of worth Rs. 480000. He left-behing a

widow, three sons and four daug_hters. Calculate the share ofea¢h one.

6(a). A shopfkeepef against a profit of 7% by selling a dinner set
for Rs:3852. Ifhe sells it for Rs. 4050 Find his profit percentage.

(b)  How much time a sum ofRs, 9400 will take to become
Rs. 10951 Ifthe same is invested @ of 3294 p.a
7(a). Aslam gets paid Rs. 70 per hour for his normal working 8 hours

daily (6 day week). The rate of overtime is 1.5 of Rs.70 per hour. If he

works 40 hours as over time, then work out his gross monthly pay.

; 8.67x3.94
(b Evaluate ’1 7 with the help of logarithm table.
a, 4 4
8(a). Find the nth term of a G.Pif = =— ang a, =—
- - a. 9 9

®).  If A={23,4) and B={13}, find AxB and Bx A. Also
:stabli_sh two binary relations each from these Cartesian products, _
3a). Dralw the graph of y=x-1

b) Find the standard dgviation for the values 1,2,3,4,6,8,11

also find the varience in this case.
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8x3=24

0212 Ui felr B L §e pihitn 4,
SGDG30 294 123:5711), B=(13579) Sz AN B

U={1,23,4,56,7} , A=(3,4,5) Sk 45 G,
A=(356},B=(1,3) Jized By d . (i)
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b IS Sy 5 NG (o)
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